Divide by Negative Powers of Ten (H)

Find each quotient.

86 +~0.01 = 81+0.1=
46 - 0.1 = 13 +0.001 =
93 +0.1= 75+ 0.001 =
74 +-0.001 = 57 +0.1=
70 - 0.001 = 93 +0.1=
84 + 0.001 = 31+0.1=
58 =+ 0.001 = 50 +0.01=
70 = 0.001 = 4+0.1=

95 +0.1= 3+0.001=
40 - 0.1 = 14 +0.1=
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Divide by Negative Powers of Ten (H) Answers

Find each quotient.

86 = 0.01 =8,600 81+ 0.1 =810

46 - 0.1 =460 13 +0.001=13,000
93 + 0.1 =930 75+ 0.001 = 75,000
74+ 0.001 = 74,000 57 +0.1 =570

70 =+ 0.001=70,000 93 +- 0.1 =930

84 <+ 0.001 = 84,000 31+0.1=310

58 = 0.001 = 58,000 50 <+ 0.01 = 5,000
70 =~ 0.001 =70,000 4+0.1=40

95 + 0.1 =950 3 +0.001 =3,000
40 = 0.1 =400 14 + 0.1 =140
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